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Vandana Chhatri 1 day ago % Sourav Basu 1 day ago ;\
Real Champs THANK YOU SIR FOR THE AMAZING SESSION 4, e thank you sir. HW ans is 100rs
HW. ANS. 100
1 "I Reply

e 1 GH Reply

Miharika Jha 1 day ago

Homework answer Rs 100

e ' 5P Repy

Shivangi Gupta 1 day ago
Hw: 100
Thank you sir for the awesome session

e 1 GH Reply

Priyanshi 316 1 day ago

100 hw answer sir

| | e ' 5P Repw
1Il.-'r'EI"‘-.I' nice Session

Srceove Arjoo Srivastava 14 hours ago
ANS 100

Abhishek Singh 1 day ago

H.w answer is 100
e 5F Reply L Reply
Meetu Maurya 1 day ago

MNitika Gupta 1 day ago
100

Hw ans 100. Thanku sir for session

e 1 CH Reply

Khushi Gupta 1 day ago

e ' 5P Repy

Manojit®) 1 day ago
100

Option 1 Rs. 100 is the answer.

@ Reply e ' SF Reply




119.99 - {64.95 + 119.99 = 3.99} = ?Z

A.15
B.10
C.8
D.7
E.5




99.96 x ? +57.12 — 12.03 ~ 4.02 = 204.25

A.2
B.1
C.3
D.1.5
E.O




22 420.05 - 20.02 x 6.01 = \V441.04

A.12
B.121
C.11
D.100
E.144




217.32 +7.02 + 68.97 - ? x 1.51 = 25.04

A.50
B.60
C.40
D.45
E.75




901.2 +~30.04 +11.98 x 5.01 - ? X 9.05

-9.02

A.5
B.6
C.8
D.11
E.13




(14.95)? + 44.97 - N1024.04 = ? - 12.12

A.230
B.260
C.240
D.250
E.280




2499 x3.01 +72.1+7.99-69=7?

A.77
B.74
C.82
D.70
E.79




33.33% of 659.9 + 25% of 220.31 — 14.28% ot 98 = ?

A.261
B.240
C.230
D.235
E.320




(400% of 55.8) — (60.1 x 11.2 + 20.4 + 5) = ?

A.-280
B.-440
C.290
D.270
E.-400




12.21 +22.24 - 11.12 + 100 - 122.2 =?




3, 7, 41, 74, 118

AWAS
B.15
C.22
D.19
E.NOT




7, 2, 17, 42, 91

A.8
B./
C.9
D.12
E.NOT




504, 252, 84, 42, ?, 7

A.16
B.15
C.14
D.13
E.NOT




58, 67, 95, 160, 286, ?

A.593
B.603
C.613
D.563
E.NOT




?, 16, 24, 60, 210, 945

A.32
B.22
C.12
D.42
E.NOT




If the difference between Compound interest and simple interest on a certain sum of

money at 5 % per annum for 2 years is 25.50rs. Find the sum of money ?

afs ues At amafoT o 2 awt 3 o1 5% wft aw it R & wshals s ot |veur s &

arer hT TR 25.50 TUA 21 UARTI9T T ShifTr?

m OO O @ >

.Rs.
.Rs.
.Rs.
.Rs.

. Rs.

12,000
10,200
13,000
10,000
15,000



The length of two trains are 130 m and 150 m are running at the speed of 52 km/hr and 74

km/hr, respectively on parallel tracks in opposite direction. In how many seconds will they
cross each other?

ST 3T Shl TS 130 HieX 2R 150 Wiex &, =it frodia feor & aumiar uefEt uw s 52
TeRHi/eieT ST 74 TeRefi/aet <Rt TTid | =ret @I &1 A fehel Wehs H Teh-gHL ol TR {2

A.5
B.8
C.10
D.12
E.NOT



A, B and C started a business. A and B invested in the ratio of 3 : 7 and C invested 8,000rs
the same amount as the difference between the investment of A and B. What is the amount

invested by B?

A, B 3R C 7 Teh T9ETd I% TohaATI A R B 7 3 ¢ 7 o arqura # fawr feram sk ¢ 7 A TR B
éaﬁéwéaaﬁaé; 3 % T TR w9 I 8,000 T T & fEm B gRr v g

qivT T 2?2

(&)

AN A.Rs. 10,000
B.Rs. 6,000
C.Rs. 12,000
D.Rs. 14,000

E.NOT



The current salary of A and B are in the ratio 6 : 5. If their salaries are increased by

6000rs each then the ratio of new salaries become 8 : 7. Find the current salary of B?

A 3TR B T IAHT I 6: 5 o STTUTA § 21 AT I7oh I | 6000 T <Y Ffg hY ATt & 1 7Y

A ST TUTA 8: 7 &l ATAT g1 B T AW A AT hlfor?

m oo w >

.Rs
.Rs
.Rs
.Rs

RS

. 17,000
. 20,000
. 18,000
. 15,000
. 16,500



A boat can travel with a speed of 11 km/hr in still water. If the speed of the stream is 7
km/hr, find the time taken by the boat to go 108 km downstream ?

Uk AT FRer et & 11 forei/eier &t 7ifa & amam o Oerdt 21 It oy iy i 7 forwiyeer 2, ot
TS g & o ATehet 108 TRt s | foram wan s st hiferare

/‘/\f\ N 2 7

A.1 hours
B.2 hours
C.4 hours
D.6 hours
E.NOT




A shopkeeper increased 50% price of its cost price and give 20% discount. After that he
gain 660rs then find the difference between profit and discount ?

Teh TSR U Shal Tod T 50% Hed SIGTdT 8 3TN 20% hl PE T 2. I8eh oI18 I8 660 TUA
RT AT BIAT & A1 T 3T B¢ o 1 T 3w AT hitera?

(& = ri\

A.220
B.330
C.440
D.550
E.NOT



In this graph total number of students and male students are given who travels

at Allahabad junction day by day. : ‘
SH A A 3o Bl IR GOV STAT P Fol HEAT & 7S & ST f&-
gfafea soedle g W AT dld gl

= Total = Male

1200
950
800 800
500
300
Sunday Monday Tuesday Wednesday Thursday



The total number of female students who travels on Monday and Wednesday how much
percent is greater than females who travels on Thursday?

AR R FLUAR T ATAT HE TTAT SEATSAT chl el TEAT TEAR i ATAT T ATt AEeATS
6T T | Toha- faore atferes 22

= Total E Male 1200

950

A.10.2%
B.18.5%
C.12.5%
D.14.2%
E.13.5%

Sunday Monday Tuesday Wednesday Thursday



Find out the average number of female students travel at Allahabad junction from Sunday
to Thursday?

R | THAR T FATEIATE SIRT T ITAT A ATeAT BTATSAT chl ST HEAT AT hlTST?

= Total E Male 1200

950

A.420
B.530
C.480
D.303
E.270

Sunday Monday Tuesday Wednesday Thursday



Find the ratio between total number of male student who travel on Monday and Thursday
to the female student who travel on Tuesday?

AR SR TEAR BT ATAT R ATel T6F BTAT chl hHel SEAT HR HTAR ht ATAT A ATAT
TfEeT BT o e T SITUTa [TA AT

= Total E Male 1200

950

AN P
B.3:5
C.5:4
D.25:7
E.25:9

Sunday Monday Tuesday Wednesday Thursday



Find the average number of male passenger who travels at Allahabad junction from

Sunday to Thursday?
TR | TEAR ek SATETATE ST T ATAT Tl el T6W ATHAAT shY HTET ST AT Rl T ?

Sunday

Monday

= Total E Male

950

Tuesday

Wednesday

Thursday

A.480
B.470
C.580
D.430
E.450




Find the number of female student who travels on Friday if total number of student who
travels on Friday is 70% of total students who travels on Thursday. and total number male
students who travels on Friday are 60% of total male students who travels on Thursday ?
TS IEHAR T ATAT T AT DAL T Hed HEAT THAR hi ATAT A AT Hed BT hl 70% 2,
AT IERAR ohl ATAT Sl ATAT WIRAT BIAT shl HEAT AT hITSTA| R TR Thl ATAT HIA ATeA
HeT I6W DT TEAR Sl ATAT HiA AT Het T&W BT o6 60% &7

Sunday

Monday

= Total E Male

950

Tuesday

Wednesday

1200

Thursday

A.360
B.421
C.248
D.332
E.370




